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Af & AR TMIFETA238 | FEME CHERIRE) ¥30,226,364
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1 [t BAE iR

2 |BR=H AIFEE #iR
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AtLIERK

ARISHLE=RE (SF7EE EKEEF KEFHEHIE(RILEKES)

Af & AR TMIFETA238 | FEME CHERIRE) ¥10,600,000

FEER ETFKER e+ KB MEER
AtLE ®%8 (FD Ayt—o eSS

1| BKERZ %A BAMKIE 10,000,000 RE

2 |BFIEERE H#RARH 10,500,000

3 [t 73 BEEXE 10,550,000

4 [RE=H ﬁ*_ggz;firg 10,600,000
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¥ SEOREHRMEERVERERBMERETREOESYTT,
= 1Kl R {H 4% 9,701,120 M
=K HI PR M 4% 2= 91.52 %
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At & A B TMTETA23B | TEMECHERRE) ¥5,920,000

TR ETKER x1E IKEBER

AfLE =8 () HIyt—o "%

1 [EBKkEZE %At mAMXEKIE 5,500,000 RE

2 |BEFBEE st 5,900,000

3 |t b—4S BEXE 5,900,000

\ Mt rjj__ggg—%birg 5,920,000
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¥ SEOREHRMEERVERERBMERETREOESYTT,
= 1Kl R {H 4% 5,400,224 M
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Af & AR TMIFETA238 | FEME CHERIRE) ¥14,620,000

FEER ETFKER e+ KB MEER
AtLE ®%8 (FD Ayt—o eSS

1 |EFKE 14,200,000 RE

2 |t YT 14,488,420

3 |t BEER 14,568,000

4 |BR=H FEERE 14,620,000

5 |BRE HMIKEIHE 14,620,000
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¥ SEOREHRMEERVERERBMERETREOESYTT,
= 1Kl R {H 4% 13,093,672 H
=K HI PR M 4% 2= 89.56 %



